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0000000Q$C_{k} = \sum_{ilj=k} A_{i}xB_{j}$
000000000 $(A+B)|C=A|C+B|C$ 00000
00000000

$FWT(A+B) = FWT(A) + FWT(B)$

$FWT(A) = (FWT(A_{0}),FWT(A_{0})+FWT(A {1})$0$A {0}$ 000D DO $$0 0000000
$2~°{n-1}$ 00 $A {1}$ 000000 $1$00000000 $2°{n-1}$ 00O

00 $or$ 00D O[0$FWT(A)NIT = \sum_{jli=i}A[jI1$ O

0000000000

$FWT(A|B)$

$=FWT((A[B)_{0},(A[B)_{1})$

$=FWT(A_{0}|B_{0},A_{0}|B_{1}+A {1}/B_{0}+A_{1}|B_{1})$
$=(FWT(A_{0}|B_{0}),FWT(A_{0}|B_{0}+A_{0}|B_{1}+A_{1}B_{0}+A_{1}[B_{1}))$

$=(FWT(A_{0})xFWT(B_{0}),FWT(A_{0})xFWT(B_{0})+FWT(A_{0})XFWT(B_{1})+FWT(A_{1})xXFW
T(B_{0})+FWT(A_{1})XFWT(B_{1}))$

$=(FWT(A_{0})xFWT(B_{0}),(FWT(A_{0})+FWT(A_{1}))x(FWT(B_{0})+FWT(B_{1})))$
$=(FWT(A_{0} ,FWT(A {0}+A {1})))x(FWT(B_{0} FWT(B_{0}+B_{1})))$
$=FWT(A)XFWT(B)$

ggd

O0000 $FFT$ 0000000 $IFWT$ 0000

$IFWT(A)=(IFWT(A_{0}),IFWT(A_{1})-IFWT(A_{0}))$
o

gooogd

ggd
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$FWT(A)=(FWT(A_{0}+A_{1}),FWT(A_{1}))$

$FWT(A+B)=FWT(A)+FWT(B)$
Oobooobooooboooboon

$IFWT(A)=(IFWT(A_{0})-IFWT(A_{1}),IFWT(A_{1}))$

gooo

000
$FWT(A)=(FWT(A_{0})+FWT(A {1}),FWT(A_{0})-FWT(A {1}))$
$FWT(A+B)=FWT(A)+FWT(B)$

$IFWT(A)=({\frac {IFWT(A_{0})-IFWT(A_{1})} 2} {\frac {IFWT(A_{0})-IFWT(A_{1})} 2})$

oo

#include<bits/stdc++.h>
using namespace std;
typedef long long 11;
const int MAXN= ;

int MOD= 5
int inv2=(MOD+1)>>1,N;
11 al/MAXN|,b1 MAXN],a2[MAXN],b2 MAXN],a3[MAXN],b3 [ MAXN;

void or FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P k+p|+=P[k|*opt,P k+p|=(P[k+p|+MOD)%MOD;

void and FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P 'k|+=P k+p|*opt,P k|=(P[k]|+MOD)%MOD;

void xor FWT(1ll *P,int opt /0000000000000 O0000000000O0 0O
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
1l x=P|k]|,y=P k+p];
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Plkl=(x+y)%MOD;
P! k+p|=(x-y+MOD)%MOD;

opt==-1)P[k]=111*P[k]|*inv2%MOD,P k+p|=111*P|[k+p|*inv2%MOD;
int main
scanf("%d",&N) ;
N=1<<N;

int i=0;i<N;i++
scanf("%lld",&al(i]);
a2lil=a3[il=allil;

int i=0;i<N;i++
scanf("slld",&b1[i]);
b2[il=b3[il=bl[i];

or FWT(al,1);or FWT(bl,1);

int i=0;i<N;i++) allil=alli/*b1[1i|%MOD;
or FWT(al,-1);
and FWT(a2,1);and FWT(b2,1);

int i=0;i<N;i++) a2|i|=a2[1/*b2[1i|%MOD;
and FWT(a2,-1);
xor FWT(a3,1);xor FWT(b3,1);

int i=0;i<N;i++) a3|i|=a3[1i/*b3[1i/%MOD;
xor FWT(a3,-1);

int i=0;1i<N;i++

printf("slld ",al[i]);
putchar ;

int i=0;i<N;i++

printf("slld ",a2[i]);
putchar ;

int i=0;i<N;i++

printf("slld ",a3[1i]);

putchar ;

oo

1.https://www.luogu.com.cn/problem/CF1119H

goog

00 $n$ 0000000000 $xy,z$0000000000 ${a {it.b {i}.c {i}}sQoooooon
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0 $x$ 0 $a_{i}$0$y$ 0 $b_{i}s0$z$ 0 $c_{i}s0DODODO $NSOOD DD $080 $27{N}-1$ [
0000000000000 00000000000000000000000000000
$998244353$ 1 00 0 0 $n<10~{5} N<17$%

gooo

0000000000000 000D0000 $aA{i}s00oo0oO $xs0sb {ips0oononon sysQ
$c {i}s 000000 $2z$J0000O $n$0000O0C0OO0ODO $FWTSOO OO $SIFWT$S QOO OO DO
000000000 $0(nk2~{khsJooooood

00000000000 000000000000000000000000000000000
$x,y,2$ 00 $FWT(F_{k})lil=c(i,a_{k})x+c(i,b_{k})y+c(i,c {k}z$ 00O $c(i,)$ 0000 D000 $j$ C
$i$ 0000000 $cij)=(-1)"{cnt(\&})}$ 000000000
$SFWT(F_{k}[i]=(-1)"{cnt(\&a_{k})Ix+(-1)~ {cnt(\&b_{k})}y+(-1){cnt(\&ec_{k})}z$ (0 OO OO
0000000000000 $FWT$SOO O $IFWT$J0 0000000000 $0(n+k)2~{k}$ 00 O
0000000000000000

O00000000d $S[il=\prod {k=1}"~{n} FWT(F_{k}[il$ 000 000D0O0OOCO0OOOOO
SIVMTS DO 0000000000000 00000000000D0OD $xy,z$000000000
0000000000000 0o0o0D0oDo0ooOoDooDo0oooOoDOoDoooOooDg $0(n)soo
$O(logn)$ 0 D0 0D0O0O0DOODO0ODOODODOODO0OOOODODOODOOOODOODODOODOODOOO
D0D0000 $a$ 000000000000 $(0,b_{k}e®a {k}.c {k}ea {k})$0ODODOODOODOO
000000000 $a{k}s000000000DO0ODO0O0O %as000000000O0O0O0O $is000O
0s3s0000000000000000 $xX+y+z,x+y-Z,Xx-y+z,x-y-z$ []

00000D000000000 $c{1},c {2}c {3}c {4}$0000000 $n$0000000O0
000000000000 $y$0000 $1$00000$0$000000 $FWTSOD OO0 $i$ 0O
000000 $(-1)~{cnti\&b {k}N}$ 0000000 $c {1}+c {2} {3}-c {4}$0000 00 $z%
0000000000000 000D00000D0000 $b {klec {k}$ODODO $ISODOOOOODO
O000000000Og $FWT$SDDDDDDDODDDODODODO

$(-1)~ {cnt(\&b_{k}}-1)~{cnt(\&e_{k}I$ 00000000 $c_{1}-c {2}-c {3}+c {4}$0000 0
0000000000000 000000000000 $0((k+logn)2~{k}$ 000 0 0O

#include<bits/stdc++.h>
using namespace std;
typedef long long 11;
const int MAXN= ;

int MOD= ;
int inv2=(MOD+1)>>1,N,n,X,y,Z;
11 al[MAXN],b1[MAXN|,a2[MAXN],b2[MAXN],a3[MAXN],b3[MAXN];

11 quick power(1l a,1ll t,1l mod
11 ans=1;
t
t&1)ans=ans*a%smod;
a=a*a%mod;
t>>=1;

’

https://wiki.cvbbacm.com/ Printed on 2025/07/14 11:42



2025/07/14 11:42 5/10 FWTOOOOoooo

ans;

void or FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=i
int k=j; k<j+p; ++k
P k+p|+=P k! *opt,P k+p|=(P[k+p|+MOD)%MOD;

void and FWT(1ll *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
P k|+=P|k+p]|*opt,P[k|=(P[k!+MOD)%MOD;

void xor FWT(1l *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
1l x=P[k],y=P[k+p];
Plk!=(x+y)%MOD;
P k+p|=(x-y+MOD)%MOD;

opt==-1)P k|=111*P[k]|*inv2%MOD,P k+p|=111*P|[k+p|*inv2%MOD;
int main
scanf("%d %d",&n,&N) ;
N=1<<N;
int sum=0;

scanf("%d %d %d",&x,&y,&z);
int i=0,a,b,c; i<n; i++
scanf("%d %d %d",&a,&b,&c);
sum™=a;
b™=a;
c™=a;
allbl++;
a2l cl++;
a3 b™cl++;

xor FWT(al,1);

xor FWT(a2,1);

xor FWT(a3,1);
int i=0; i<N; i++
int cl=(111*n+al(il+a2/il+a3[i])%MOD/4;
int c2=(1ll*n+al[i]-c1-c1+MOD)%MOD/2;
int c3=(111*n+a2/il-c1-c1+MOD)%MOD/?2;
int c4=(111*n+a3[i]-cl-c1+MOD)%MOD/2;
11 ans=1;
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ans=ans*quick power((1l1*x+y+z),cl,MOD)%MOD;
ans=ans*quick power((1l1*x+y-z+MOD)%MOD,c2,MOD)%MOD;
ans=ans*quick power((1l11*x-y+z+MOD)%MOD, c3,M0D)%MOD;
ans=ans*quick power( (1ll*x-y-z+MOD*2)%MOD, c4,MOD)%MOD;
bl/il=ans;

xor FWT(bl,-1);
int i=0;i<N;i++
printf("slld ",bl[i”sum]);

2.https://www.luogu.com.cn/problem/P6097
0000000000000 00000000000 $ij=k$00000 $i\&=0$000000
$ij=k$ 00000000 $FWT$ DO O OO

00000000000 $popcount(i)+popcount(j)=popcount(ijj)$ 0 0000 0000O0OOO0O0OO
O $popcounts 0O O O $f_{i,j}=a_{j}(popcount(j)=i)$ 0O O $f_{ij}=0s0$g_{ij}s 00D OODO
$h_{i}=\sum {k=0}"{i}f {k}xg {i-k}$ 0O OOCOO0O $h {popcount(i),i}$ 00O DODO
$0(n~{2}2~{n})$ O O

#include<bits/stdc++.h>

using namespace std;

typedef long long 11;

const int MAXN= ;

const 1l MOD=1e9+9,inv2=(MOD+1)>>1;

int N,lim,pc/MAXN];
int a2 MAXN |, b2 MAXN | ,ans MAXN | ;

void or FWT(int *P,int opt
int i=2; i<=N; i<<=
int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
P k+p|+=P[ k! *opt,P k+p|=(P[k+p|+MOD)%MOD;

void solve or FWT
int i=0;i<=lim;i++) or FWT(a2[il,1),or FWT(b2[i],1);
int i1=0;i<=lim;i++
int j=0;j<=1i;j++
int k=0;k<N;k++
ans|il[kl=(ans[i][k!+111*a2[j ]| [k|*b2[i-j ] kI!%MOD)%MOD;

https://wiki.cvbbacm.com/ Printed on 2025/07/14 11:42


https://www.luogu.com.cn/problem/P6097

2025/07/14 11:42 7/10 FWTOOOOoooo

int i=0;i<=lim;i++) or FWT(ans[i]|,-1);

void print or FWT
int i=0;i<N;i++) printf("%sd ",ans|pcli i]);

putchar ;
int main
scanf("%sd",&N) ;
1im=N;
N=1<<N;
int i=0;i<N;i++) pclil=_builtin popcount(i);

int i=0;i<N;i++) scanf("%d",&2[pcli il);
int i=0;i<N;i++) scanf("%d",&b2 pcli il);
solve or FWT();
print _or FWT();

’

3.00000E

gd

OO0 $n$ 0000 $m$ 00000000 0O0O0O0O0O0O $x{i}$J000 $m$00pOOOOOOOOO
O0000%s00000000ooo snsoooooooo sl {iyr{iYlspocoooooooog
goboooboboooobooobbooobbuooobooooo

$1=<n<10"{6},1=l {i}r {i}=<10~{5},1=m=<5,1=<x {i}=<10~{5}%
00

0000000000000 000D0O0O0O00000000DO $se¢00000OD00O0ODOOOO
OO0 $se$ 0000000 SSOO0000O0 $se$0000DOOO $30$00000000ODOOOO

O000000D $1$0 $10000060 00 0000O0C0O0O0ODO0OO0O0OODOO0O0OODOO $m$O000O0O
goboooboboodobooobbooobooobboobooboo

00000000 $is00000D000000000000D0 $s$0000D0000DOOO0ODOO
00000000 $mex$ 0000000000 $sg$ 0000 $is00000000O0O0O0O0ODOOO
00000 %i$J0 00000000 $sq¢0000D0OC000ODOOOO0ODOODOOOODDOOOODO
$bitset$ DO O OOODOOOODOOO $0({\frac {100000™{2}} w}+256x100000)$ (0 C OO OO
$23030 000000000 $256% 0

O0000000000000 $sg$ 0000000000000 DDO00O0DOODOO0ODOOOnO
O00000 $sgs 00 s0$0 00000 $sg$ 00 10000000

OoooooooooOO $al]$ ~ %al2]$ ~$..$ ~saln]x0$ 000000000 $FWTSOO OO
000000000000 $sg$ 00 $is00000000O0OO0O0OODODO0OO0ODOO $n$00000
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0000000000000 $sg8 000000000000 $sg$0000000000000
$SFWT$ OO DODOOD00O $IFWT$ 000000 $256$00000000000000000000
$0(256xl0og_{2}(256))=0(2048)$ 000 $n$ 0O O $2x 10N 0000000 O OO0

OO0 $Soi-wikis 0D O OOODOOO $SFWT$S OO OO ODOOO $\N&$ O $1$0 0000 $is 0O $js 000
D000 $i$s0%$ks 000000 $$S0OSk$IDOODOO SIS~ $$s0$k$ I DIDOODODOODO
00 $FWT$ [ $A_{i}=\sum_{C_{1}}A_{j}\sum_{C_{2}}A_{j}$ 0$C_{1}$ 00 $i\&$ 00D OO O
$C {(2¥s 00 %\ 000 0O0ODODODOODOODOOODO

O00 $sg$ 00 0000000000000 00DO0O00D000DO0ODO0O $1IsO00000
$\_\_builtin\_popcount$ 0 OO OO

gbobooobobooobooobbooobbuooobboobbboobbooobboOobnoO
O0D00O00O0OD0D0OO0 $FWT$ O OO OO0O0O000000 $0(256n)$00 00000 $0(2048n)$ 0O
0000000 $IWT$S 00000000000 00000 $0(256n)$ 00000000 $sg$ 000
s ooooOopooDon

0000000000000 000D00000D000000O $t$00000000000O0O0O000
HEN

const int maxn= ,N=1e6+10,maxm= ,MOD=1e9+7/,inv2= ;

bool check[maxn+1];

int prime ! maxn+1],mu[maxn+1];

int

tot,n,m,ls[N|,rs(N!,sgimaxn+1],sum[maxn+1|[maxm+1],ans maxm+1|,o0[maxm+1];
bitset<maxn+1> t,b[maxm];

void Moblus
mu =1;
int i=2; i<=maxn; i++
Icheck[1i
mulil=-1;
prime|tot++]=1i;

int j=0; j<tot; j++
i*primelj ! >maxn ;

check|[i*primel|j | |=true;
i%primelj|==
muli*primelj||=0;

’

mu i*prime!j|/=-muli];

void xor FWT(int *P,int opt,int N
int i=2; i<=N; i<<=
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int p=i>>1,j=0; j<N; j+=1i
int k=j; k<j+p; ++k
int x=Plk],y=P/k+p!;
P kl=((11)x+y)%MOD;
P k+p|=((11)x-y+MOD)%MOD;

opt==-1)P k]=(11)P[k]|*inv2%MOD,P k+p|=(11)P[k+p|*inv2%MOD;
void init
0[0]=0;
int i=1;i<maxm;i++)o[il=0[i>>1]+(i&1);
int i=1; i<=maxn; i++
mulil==1)t.set(i);
int i=0; i<=maxn; i++
sg[i]=0;
bisgli] | [1 sglil++;
blsgl[i]]|=(t<<i);
int main
Moblus () ;
read(n);read(m);
int i=1; i<=n; i++) read(ls[i]),read(rs[i]);
int i=1,tmp; i<=m; i++) read(tmp),t.set(tmp);
init();
int i=0; i<=maxn; i++
int j=0; j<maxm; j++

{olsglil&j1&1) )sum[il[j]=1;
sum/i/[j|=MOD-1;

int i=1; i<=maxn; i++
int j=0; j<maxm; j++
sum[i|[jl=sum[i][j]+sumi- il

sum/(i/[j|>=MOD) sum[i![j]|-=MOD;

int i=0; i<maxm; i++)ans[il=1;
int i=1; i<=n; i++
int j=0; j<maxm; j++
ans/jl=(ll)ans[j/*(sum[rs/i]|[jl-sum/ls[i]- j1)%MOD;
xor_ FWT(ans,-1,maxm);
1l sum=0;
int i=1; i<maxm; i++

sum=sum+ans|i];
sum>=MOD) sum-=MOD;

printf("sLlld\n", (sum+MOD)%MOD ) ;

’
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